

$$\textbf{123} \quad 1. \frac{3}{4} + \frac{4}{5} = \frac{31}{20}$$

$$2. 5 \times \frac{8}{15} = \frac{8}{3}$$

$$3. 2 - 2 \times \frac{3}{5} = 2 - \frac{6}{5} = \frac{4}{5}$$

$$4. \frac{\frac{2}{3}}{\frac{4}{5}} = \frac{2}{3} \times \frac{5}{4} = \frac{5}{6}$$

$$\textbf{124} \quad 1. A = \frac{12 + 5 - 2}{18} = \frac{15}{18} = \frac{5}{6}.$$

$$2. B = 1 - \frac{37}{24} = -\frac{13}{24}.$$

$$3. C = -42 \times \frac{-5}{7} = 30.$$

$$4. D = \frac{33}{56} \times \frac{8}{11} = \frac{3}{7}.$$

$$\textbf{125} \quad 1. A = \left(3 - \frac{11}{5}\right) \times \frac{45}{7} = \frac{4}{5} \times \frac{45}{7} = \frac{36}{7}.$$

$$2. B = \frac{4}{9} - 1 = -\frac{5}{9}.$$

$$3. C = \frac{1}{3} - \frac{16}{7} \times \frac{21}{40} = \frac{1}{3} - \frac{6}{5} = -\frac{13}{15}.$$

$$4. D = \frac{1 - \frac{1}{6}}{\frac{1}{8} - \frac{5}{12}} = \frac{\frac{5}{6}}{-\frac{7}{24}} = -\frac{5}{6} \times \frac{24}{7} = -\frac{20}{7}.$$